TR
EREEDRD) DERLANERE (FR20EE)

(E+nl& x 10", Il Z [XE+3[& X 1000DER T, )

A ﬁﬁﬁ%(kg/ﬂi)
E LU m | 2em| @ |37 ax | 200 [ RE | A8
> 15 SE - S &%
1 |EESRDKBHILEY 9.9E+1 98.5
18 |2470=)L 5.0E+2 503.0
20 |J LRI R—b 14E+2| 43E+2| 40E+2| 3.1E+1 1.6E+2| 9.9E+2 2,146.0
34 |FH¥oRyTIFIL
35 |7/ FA—IFEIIEMCPAFAIFIL
36 |THIKRR 1.5E+2| 2.9E-1 9.0E+0 157.0
37 |EPN 1.6E+2 3.8E+2 5415
38 |RUTAAR)Y 3.7E+2 3705
39 |EUR—bF
49 [T 74E+3| 5.1E+2 7,950.0
50 |wratJdEflEdvrtT7 6.7E+3| 4.7E+3 11,455.0
51 |[CHT7ROTAIRFERIZDIT VR 42E+2| 3.3E+2| 1.3E+3 1.1E+2| 6.3E+2 2,774.0
53 |THOAJ—)L 4.0E+1 40.0
75 | 7Dy 4.3E+1 425
76 |ARSOB—IL
78 |ZILTOF L 40E+2| 3.4E+2 732.0
79 |2z /arJ—1 9.7E+0| 3.2E-1 10.0
81 |[FLF5o0— 4.4E+2 436.5
82 |72v8—)L 8.6E+1 86.0
90 [P FEFILCAT 3.3E+1| 1.2E+2| 4.4E+0 1.3E+2 287.0
92 [13RvarJy—)L 31E+1| 7.2E+0| 3.4E-1 1.8E+0| 1.1E+1 51.0
97 [MCP#&E7=IEZMCPA
98 |F=/)LyO0—)L 2.9E+1 29.4
105 [ZJL/3)R—F 81E+1| 1.8E+1 99.0
106 |Zxo /L L—Fk
107 |2 RILAR Y 3.2E+1| 4.0E+1 72.0
110 |FARVANWTEIERVFAH—T 5.0E+2 500.0
11 A7z XkO—)L 2.4E+3 2,435.3
122 |[FOEH=IR
125 [ZILRILD 7R 1.3E+1 12.6
126 [N Iz v 9.5E+2 950.7
129 [y & t-(FDCMU 24E+2|  1.7E+1 5.8E+1| 4.3E+0 3225
130 [V=2m> 7.5E+1 75.0
131 |2,4-DFE=1%2,4-PA 1.3E+2 8.7E+0 4.6E+1 186.3
137 |D-D 2.3E+4 22,623.0
141 |[ESV XLz 2.0E+1 20.0
142 |ESYL—k 5.0E+1 50.0
143 |©4H0A~R=)LE-IEDBN 2.8E+1| 1.7E-1 3.1E+1 1.7E+2|  2.6E+0 228.2
146 |CFT7 /> 5.5E+2 546.0
147 |4 7OoF45> 9.1E+3 9,072.0
148 | T T 47z RRFET=(LEDDP 4.3E+1 425
151 |[TFIVLFA AR EIF D RILRRY 1.1E+3 1.4E-1 75E+0| 4.5E+1 1,179.0
152 |;k9A>
153 | FaFAHRR 22E+2| 37E+2| 15E+0| 9.2E-2 7.7E+0|  4.7E+1 648.0
154 |AFH FA 2 EI=[IDMTP 1.9E+3| 1.0E+2 1,964.0
155 |V FIEISF4 14E+1| 10E+2| 2.8E+2 390.0
156 | ART—k 41E+1|  2.7E+1 68.0
161 |[HILARRILIT7Y 6.3E+0 2.0E+1 26.0
165 |7 /FAHhILT 3.5E+1 35.0
167 |~ 4&0O)LiR ET-IXDEP 6.9E+1| 5.3E+1| 3.7E+2| 1.3E+0| 1.2E-2 7.7E+0|  4.7E+1 544.0
1/3

EFE.TO7IAN) RS BEEILXRT? RERE2EEFHRE




TR
EREEDRD) DERLANERE (FR20EE)

(E+nl& x 10", Il Z [XE+3[& X 1000DER T, )

% FHE (ke/5F)

= BRA% . T2 T | RE FR=E
= B REE| B | Ty” | A g mx | A
169 [/X\5a—kPHAYRFEIE/ 50—k 30E+2| 22E+2| 9.1E+2 75E+1| 4.5E+2 1,960.0
170 |TRTOAHILT 2.7E+2 273.0
173 |7z b T —hE[EPAP 2.8E+1| 8.8E+1| 4.5E+1 161.0
174 |[7AXFL =)L 7.5E+2 750.0
180 |4 Ayb 2.6E+4 25,872.0
183 |ESH/OHRX 1.2E+1 12.0
184 |27 /7R AFEF=IFXCYAP 1.2E+2 120.0
185 |[F 472 /0 1.1E+2 9.4E+2| 8.9E+1 1,133.0
188 [0 JLEYRR 14E+2| 1.9E+2| 1.7E+1 9.1E+1 433.0
189 |1V FHYFA> 37E+1| 5.4E+2| 1.3E+0| 1.3E-1 6.8E+0| 4.1E+1 628.0
190 |90z F 4 FF-IFECP

192 |[Zz=+bAFF 2 FI=IEMEP 25E+3| 1.8E+3| 5.1E+2| 4.9E+1| 5.7E+0 3.1E+2| 15E+3 6,714.6
193 |z FA U FfIEMPP 1.9E+2 2.9E+2 1.1E+0 6.1E+1 545.7
194 |70OJ)LEYRAAFIL 5.0E+1 50.0
195 | 707z /7hRR

196 |4/ 7O KRR FET=ZIBP 5.6E+3 5,576.0
199 [Foo4ao0=)LFEFILTPN 44E+2| 6.7E+2| 26E+3| 2.9E+1 8.6E-2| 9.3E+2 4701.6
204 |FOSLFELITFS LA 8.4E+2| 15E+2| 1.1E+2 1,110.0
207 |ERKAMHIEEEIEERR) 2.4E+1 24.0
214 [HoaEsyy 1.4E+4 14,164.5
216 |k)yBE L 5.4E-2 2.9E+0 3.0
220 |2 3.4E+3 3,367.7
245 | AR
246 |A X4 89E+2| 1.2E+3| 1.4E+1| 3.0E-1 1.4E+2 2,200.0
247 |HOTIUFOY 39E+1| 1.1E+0 40.0
249 (US4 1.5E+2 150.0
250 |7RYH—s\A—} 7.7E+1| 15E+2| 2.0E+2 425.0
257 [ETILR/—IL 15E+2| 1.8E+1| 1.8E-1 5.6E+0 175.0
267 [RJLARYY 5.3E+1| 9.0E+1 2.3E-1| 1.4E+0 1445
274 [D70oxIoy 1.5E+3| 3.2E+1| 4.0E+1 2.8E+1 1,623.0
275 | 7727z /0K 7.5E+0 1.2E-2 75
276 [R/3)L 9.2E+2| 2.7E+2| 1.4E+2| 1.5E+1 1,345.0
277 |on\ARyTITFIL 2.9E+2 293.8
278 |ZzoEOFI A— 7.2E+0[ 1.1E+1 1.0E+1 28.0
279 |7V LFyEF-IEBPPS 1.2E+2| 5.7E+1 177.0
280 [EUEARY 1.6E+2| 2.0E+1 180.0
281 [T 2z2ESK 2.0E+1 20.0
284 |FAExRT 1.8E+2| 3.0E+1 210.0
288 |TOEAZY (Bl RIEAFIL) 4.8E+3 4811.9
289 |EEEDI TARARX 1.2E+2| 2.1E+0 1215
201 |TURRIVI7UEIEALY IEY

301 | ATz Ftvk 6.9E+2 689.0
322 |2z LY 2.0E+2 200.0
324 | AFIN=AVFALTHR—b 6.0E+1 60.0
325 |1y OhILTEI=[EMIPC 4 5E+1 45.0
329 |F3JL/N) JLET=IENAC 1.6E+2| 1.6E+2 322.0
330 |2z /JHILTFEf=[FBPMC 3.7E+2 8.0E+1 452.0
331 |/\AX LAV AFIL 1.7E+1 174
332 | 735X 1.4E+2 140.0
333 |h—/\ L 4.0E+2 400.0
2/3
EZFE . IO/ IRMN) RS HEEEILXRE RERESEEEHEE




TR
EREEDRD) DERLANERE (FR20EE)

(E+nlZ x 10", f5Il Z IXE+3[E X 1000 E K TT S, )

% FHE (ke/5F)

o ER% i = =

334 | X/ AFAR—bFEIEF/AFAF Vb

342 |EYTFHILT 3.1E+2 3105

350 |- B)LARAFEF=ILDDVP 1.4E+3| 1.4E+3 2,805.0
& Hi 29E+4| 26E+4| 88E+4| 54E+2| 7.5E+0 59E+3| 5.1E+3| 154,791.2

3/3
ERE . T2 7IAN) RS HEEEILIXRE RELXEEEFH




